Avswey ey

Oct. 5th: 7.4 Partial Fractions
Warm-Up

p(z)

(@) for polynomials

1 Use polynomial long division to write the following rational functions as Q(x) +
Q, p,q with degp < deggq.

v R-\ —\=X
2% +1 YE4XAL | X34 DX+ e
a. —2-**‘**”‘""“ 2 \A {-X'\'Q..
as +w+2 — (XX +2)
=
AX 1D RaAxT a4 %=
b 2m‘3+3.’f2+4m+1 A | Q2 X X AN AXYD 4 X%t
S ~§ pE®*  sam)
i Il oo
3Ix"4Ax
- (3% 43)
AR D
3 . ok
. 3t +32% + 202 —x - 3 3X7 = ©X VX -6\ RO
: T +3 X43 [ 2xM 3P+ ax-x->»
- - (3x* 40
X=X AWK-6\ + -;? _Q)I'J’—Lail
e ¥ - ((~e2®-\3xX)
A0XE-X - N
InClass Exercises -(AW%x*% 60X *(-(?o\(;c(. .3\35)
~pix=3 -
22+ 22+ 3 L&

1. (Clicker) What is the correct form of the partial fraction decomposition of

(2 —4) (z—1)¥x+3)
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2. Find the partial fraction decompositions of the following rational functions.
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